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 NAKUBISEK ,SILUNEM NAD ACABMEM AYADUB HURAGNEP  URUG
 TANIM PADAHRET AISU NAD HALOKES NATAIGEK MALAD ID

HAIMLI AYRAK NASILUNEP NAKUKALEM  
 

uruG susaK idutS - es iregeN KMS uruG - ,namelS netapubaK  
atrakaygoY awemitsI hareaD isnivorP  

 

iratseB ytteP aicirtaP  
amrahD atanaS satisrevinU  

5102  
 
 naitileneP  iuhategnem kutnu naujutreb ini  fitisop huragnep ada hakapa )1( :

 nasilunep nakukalem tanim padahret silunem nad acabmem ayadub nakifingis nad
 id urug nakubisek nakifingis nad fitagen huragnep ada hakapa )2( ;haimli ayrak

nim padahret halokes nataigek malad  )3( ;haimli ayrak nasilunep nakukalem ta
 nakukalem tanim padahret aisu nakifingis nad fitisop huragnep ada hakapa

 .haimli ayrak nasilunep  
 naskalid naitileneP iraurbeF 11 laggnat adap naka -  sineJ .4102 ieM 21

keT .fitpirksed naitilenep halada ini naitilenep  atad nalupmugnep kin
 nad SNPG( patet urug halada ini naitilenep isalupoP .renoiseuk nakanuggnem

es iregeN KMS )GAPED SNPG -  atrakaygoY .I.D isnivorP ,namelS netapubaK
 nad SNPG( patet urug halada ini naitilenep lepmaS .urug 145 halmujreb gnay

irad )GAPED SNPG   2 iregeN KMS ,lepmeT 1 iregeN KMS utiay halokes 6
 2 iregeN KMS ,nagnirkgnaC 1 iregeN KMS ,kopeD 1 iregeN KMS ,naedoG
 .urug 032 rasebes lepmas halmuj nagned ,nasalaK 1 iregeN KMS nad ,kopeD

 halada lepmas nalibmagnep kinkeT  .gnilpmaS evisopruP silana kinkeT  atad si
 halada nakanugid gnay erauqS ihC . 

  nad fitisop huragnep ada )1( :awhab nakujnunem ini naitilenep lisaH
 nasilunep nakukalem tanim padahret silunem nad acabmem ayadub nakifingis

( haimli ayrak χ erauqS ihC nosraeP  gnutih  :673,82 = giS .pmysA < 000,0 = .   50,0 = α
 nad  = noitalerroC namraepS  nakifingis nad fitagen huragnep ada )2( ;)692,0

 nasilunep nakukalem tanim padahret halokes nataigek malad id urug nakubisek
(  haimli ayrak χ erauqS ihC nosraeP  gnutih  :999,01 = giS .pmysA  50,0 = α < 400,0 = .

 nad namraepS  = noitalerroC  -  aisu nakifingis gnay huragnep ada kadit )3( ;)440,0
( haimli ayrak nasilunep nakukalem tanim padahret χ erauqS ihC nosraeP  gnutih  =

 :381,0 giS .pmysA  nad 50,0 = α > 319,0 = . = noitalerroC namraepS  - .)220,0  
 
 
 
 
 
 

PLAGIAT MERUPAKAN TINDAKAN TIDAK TERPUJIPLAGIAT MERUPAKAN TINDAKAN TIDAK TERPUJI



xi  
 

TCARTSBA  
 

 FO TCEFFE EHT  FO SEITIVITCA ,TIBAH GNITIRW DNA GNIDAER
 SREHCAET EHT FO EGA EHT DNA ,LOOHCS TA SREHCAET
GNITIRW CIFITNEICS TCUDNOC OT TSERETNI EHT DRAWOT  

 
rehcaeT eht no ydutS esaC A s  ,ycnegeR namelS ni loohcS hgiH noitacoV fo

yrotirreT laicepS atrakaygoY  
 

ytteP aicirtaP  iratseB  
 amrahD atanaS fo ytisrevinU  
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 tuo dnif ot smia hcraeser sihT  fo tceffe tnacifingis dna evitisop eht )1( :
 eht )2( ,gnitirw cifitneics tcudnoc ot tseretni eht drawot tibah gnitirw dna gnidaer

o seitivitca eht fo tceffe tnacifingis dna evitagen  eht drawot loohcs ta srehcaet f
 eht fo tceffe tnacifingis dna evitisop eht )3( ,sgnitirw cifitneics tcudnoc ot tseretni

.gnitirw cifitneics tcudnoc ot tseretni eht drawot srehcaet eht fo ega  
  02 ,21 yaM litnu 11 yraurbeF morf tuo deirrac saw hcraeser sihT  ehT .41

 .eriannoitseuq saw gnirehtag ataD .hcraeser evitpircsed a si hcraeser siht fo epyt
 hgiH noitacoV fo srehcaet laiciffo tnemrevog erew hcraeser siht fo noitalupop ehT
 145 fo tsisnoc taht ,yrotirreT laicepS atrakaygoY ,ycnegeR namelS ni loohcS

rehcaet  ,sloohcs 6 morf laiciffo tnemnrevog era hcraeser siht fo selpmas ehT .s
 ,kopeD 1 iregeN KMS ,naedoG 2 iregeN KMS ,lepmeT 1 iregeN KMS yleman
 ,nasalaK 1 iregeN KMS dna ,kopeD 2 iregeN KMS ,nagnirkgnaC 1 iregeN KMS

uqinhcet ehT .srehcaet 032 fo tsisnoc hcihw  evisoprup saw selpmas gnirehtag fo e
.erauqS ihC saw atad eht gnisylana fo euqinhcet ehT .gnilpmas  

  dna evitisop a si ereht )1( :taht setacidni hcraeser eht fo tluser ehT
 tcudnoc ot tseretni eht drawot tibah gnitirw dna gnidaer fo tceffe tnacifingis

tneics ( gnitirw cifi χ erauqS ihC nosraeP  tnuoc  :673,82 = giS .pmysA  = α < 000,0 = .
 dna 50,0  = noitalerroC namraepS  tnacifingis dna evitagen a si ereht )2( ;)692,0

 gnitirw cifitneics tcudnoc ot tseretni eht drawot loohcs ta srehcaet eht fo seitivitca
(  ihC nosraeP χ erauqS  tnuoc  :999,01 = giS .pmysA  dna 50,0 = α < 400,0 = .

= noitalerroC namraepS  -  ot detaler tceffe tnacifingis a yna t’nsi ereht )3( ;)440,0
( gnitirw cifitneics tcudnoc ot tseretni eht drawot rehcaet eht fo ega eht  nosraeP

χ erauqS ihC  tnuoc  :381,0 = mysA giS .p  dna 50,0 = α > 319,0 = .  namraepS
= noitalerroC  - .)220,0  
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